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Inverse functions

1- Find the inverse for each of these functions.

2- Find ! (x)

@fx)=1-x (b)f(x):i,x;él ©fx)=x

3- The diagram below shows the graph of a function f , for =1 <2 < 2,

7372710/1 2 3 X

(a) Write down the value of f (2)

(b) Write down the value of f - (-1) .

(c) Copy the graph and sketch the graph of ! on the grid

(OB

2x+5 2
(a) f(x) = 3x (b) f () =3x+5 ©fW="" (@[ =2x+5
©@gW=r+3 M= x+3  @gwW=2-5 MgE=r—,x¢4
Dhx)=+Vx+3 (j)h(x):§+2 K h(x)= vx—2 (l)h(x):zsfx,x¢2

x+3
dfx) = :,mﬁl
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4. The following diagram shows the graph of ¥ = (@), for —4 <z <5,

(a) Write down the value of f(=3).
(b) Write down the value of f (1),
(¢) Find the domain of f _1.

(d) Copy the graph and sketch the graph of f -

5
5- Given f(z) =3z — 2 5 g(:z:) — 3z, for® # 0, find
(a) Find £ (2),

(b) Find (g 0 f)(3)
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Solutions

1-
X x-=5 3x-5 3(x-5)
()5 (b) == (©) = (d)——
@Vx=3  (HVx-3 @ [ W
-3 05 F+2 )=
2-
@1 OF (©)x @
3- (@) f2)=3
m) f1(-1)=0
(©)
Y
-5
4-
@ f(=3)=-1
b f1(1)=0
(©) domainoff_lis—3SxS3
6:
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(b) (g0 fH3) =1
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